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1. ���

(a)  a! b"#�$% lim
x→0

√
ax + b− 2

x
= 1�

(b) &' lim
x→c

(f(x) + g(x)) = 4(&' lim
x→c

(f(x)− g(x)) = 2� �� lim
x→c

f(x)g(x) "#�

(c) �)�� lim
h→0

8
√

256 + h− 2
h

"#�
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(d) �)�� lim
x→0

√
1 + tan x−√1 + sin x

x3
"#�

2. *+�

(a)  ���
,�a"#�$%-� f..*+�/0

f(x) =
{

x + 2 1x ≤ a
x2 1x > a

�

(b) 23456,��7789:
;<=1>
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3. ?��

(a) @ f(x) =
x cosx

(1− x)(2− x)(3− x)(4− x)(5− x)(6− x)(7− x)
, A f ′(0)"#�

(b) 1BC d

dx
(f(2x)) = x2 ,  f ′(x)�

(c) 1DE�-� f/FG�H#I f(7) = 11 , JK f ′(7) = 0�

4. ?�
LM�

(a)  NO=PQ-� f(x) = ax3 + bx2 + cx + d , BC/FG�H#I f(−2) = 3RFG�
�#I f(0) = 1�
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(b) A <�QSTx2 + y2 = (2x2 + 2y2 − x)25U (0, 1
2 )"VW<�Q�

(c) XY�Z-� f(x) =
8x

(x + 2)2
, 	M[6\]^?��_-� f"ST`a�Fb"

U (�U ,cdUe )f�ghiW�
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